1/0 do/dT

Ratio to ALEPH

0.5

[ IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIIU(@

1 GeV ee y*/Z (Hadronic)
N L B B B LI L L B N B BN B B = N
=<
-0
1=
o
=
m ALEPH —gc:
--H3-- Herwig 7.1.1 default =N
—4— Pythia 8.170 default =<
----- ¢ Sherpa 2.2.6 default =
--¥-- Vincia 1.0.26_8.150 default 79
|

mcplots.cern.ch [arXiv:1306.3436]

§| A T R T R N T R R R R A RN R SR IE
e L I L
- 32
i ’:
3TN E
¢ ] ':I il 1
) KR 8]
| —0.5
e L L L I N I L L P I L L L |
0.6 0.7 0.8 0.9 1



	Contents
	Page 1


